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MENTAL ABILITY AND
SCHOLASTIC APTITUDE TEST

Time : Part =1 : 90 Minutes Meax, Marks : M)
Time t Part - 11 : 90 Minutes Mav, Markys : 30

Instructions to the Candidates

Reud the following instructions carefully hefore you answer the questions. Answers arc o be
SHATTD oo @ SEPARS [FagivendME Afswersheetasith 2 Black-Ball Pind Pen. [tzad the
Instructinns printedon the,OVIR SKett carefullyhefore answering the quesiions.

I Please write your Centre Code No and Roll Mo. very clearly (only one digitin ene block)
o the CR Sheet as given in your admission cend. Please see that no block is leftuntilled
and vven Zeros appearing in the Centre Code No. ate cotvectly tuns[erred © (e approprists
Blocks on the MR Sheet us shoven in the example given in the OMR Sheot Fo all
subsenquent purposes, your Centre Code No.and Roll Mo, shall remain the same as given
on the Admisgion Card.

[ ]

The Test is in TWO Pacts. Pare-1 consists of 90 questions and Part-TT also consists of
00 guestions.

3. Allguestions in Parl-1 and Par=11 carry one aack each.

4. Since all questions are compulsary, do ool iy to read throwgh the whol question papet
before beginmng 1o ansveer it

5. Bezinwith the tirst question and keep tring one question atter unother till you fnish both
thi Parts,
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L]

H.

11.
12,
11,

i dur et knew the answer ta any question, do not spend much time o it and pass onto
pext ong. 15 Hme penuits, you can come back 1o the questions which you bave left cul in
the First instance and 10y theom again.

Sinca the time allied o the twa parts of this question paper is very limited, you should
muke the best usc of it by fiot spanding too much Lime un any question.

A blank page is provided for rouph work at the end of each part.
Remember, you have to shade answers un a separate OME sheer provided.

Answer to each question is to be indicated by SHADING the circle having the pumber
of the correct altarnative in 1he OMR Sheet from ameng the ones given for the
correspunding question in the booklet

N turn 1o the nexst page and start answering the questions,
Aller the examination. vou should hand ever the QMR Sheet to the Invigilator of the room.

The candidate need nel recurn this Question Faper Booklct and can tnke it after the
completion of the examinution, No candidate should leave the exa minatinn hall
before the end of the examipatinn.

This Bowkletlconsists of 31 Pagesdorg [80 Questions + 03Pages of Rough Work +

0X Title Pages ice. Tolal 3o Fages
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Part - 1 : MENTAL ABILITY TEST
Time : 9 Minutes Max. Marks : 90
Note : SHADE the correet aliernatives in the QMR Anzwer Sheet provided lrom amongst the

ohes given agaifst the cormesponding questions in e Quastion Paper Booklet. For shaumg
the circles, vie a Black Ball Point Pen.

Dvirections: Questions (1 to 10):
Io thiese questions a feure { X} s given with three patts and fourlh with *** mark. Find the fonrth
parl icem the adjacent figures to complete the figure.

BN M M

L.

{1} i2} {3) (4
(21 2 (3 3 (4) 4
- -
% % VA %
Al (23 (3} (4
{21 2 {31 13 4y 3
1
I SV
(1 [2) (3 i}
(1 (23 2 (3] 3 4} 4
L P P
I
] B W B E
1X) ) @) ) 4]
(1 (2 2 (3} 3 (4} 4
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[}

(1) (2% 14
(13 | (2y 2 (3] 3 41 4
4. F
I 1/ 1|
(X0 {1} {2 {3 (4}
(13 1 (2] 2 (3} 3 (4} 4 _
7 Jﬁﬂ
{}{j il 2] (3] [}
(21 2 (3y 3 4y 4
E' %I SUH.I
{2} t‘} (4
{1) {E) 2 (3 3 (4} 4
. ?
(X3 {n {3} (4
(] {2y 2 (3 3 (4) d
1.
<> <@ R _1®
(L (2 (3 (4}
2y 2 {3) 3 (4} 4
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Directions: Questions (11 1o 0k

B

I gach problom, cut of the four Dgures marked (1, (2], (3) and (4} three are simlar _in a_r;nain
e, However, one Neures s not [ike the ather three. Chovse the figure which iz differanc

From the rest.

\Y,

t

o]

() {1} (3) (4]
{1y 1 f2y 2 (31 3 4y 4
12,
{1] (2) (3 ()
(1 1 (2 2 (34 3 (4) 4
% 1 ‘{\ L4
(12 5 Y
i1}
14,
1 {2} 13} {4}
{1 (2y 2 {31 3 {4) 4
(1) 21 (3] {4]
(L {2) 2 (33 3 (4) 4
S el ——
(1) {Z) EY (4}
(1 2y 2 {21 3 4y 4

V-116
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A ALH

il <) i3 (43
(b1 (ry 2 (31 3 ) 4
12 L Taand x
\-/ TV AT '*.flll. i lll'k('llnﬁ“f’r\'
19
20,

Dircctiens: Questions {21 fo M) |
Inthe given five altemative (1L {21 {3} {4). (3Higores, which fbres con make a square. Find,

Dv /< D

(1} (3}
(2} 2,4.3 (3 L,L.3 (4) 2.3,4
1 i2) (3) &Y (5
{1 124 (21 345 (3) 1,23 (4] 1,33

6-B V-116
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23, EI d | }f/)
{1 (2} {3 {3}
2y 1,23 3 2, 14 (4) 2, 4, 5
{4 (5}
(1} 1,2.3 {2} 1.2 4 {3y 1,35 4y 1,4, 5 B
25,
> D F A D
{1} {4} (5)
{1} 1,3,4 {2] 345 (3} 234 4} l, 3.5
2%
@Iéésﬂeﬁj 1IN
2y 1,2,3 3y L&, 3 {4y 2.3.4
o 4 S 7\
(1) (4} (3}
(1} 1.2 3 [2} 1,3.4 {3] 3,4,5 (4'} 2,4,5
"o o N VW
(L} {2} {3} {4} {5
(1y 1,23 2y 2,34 {31 1,34 fd} 2.3, 3
V116
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", o o Jd Ad
(2} (3]

ay (4] {5}
il 1,23 27 1.3.4 31 1,3,3 (<) 3,_4, 3 )
. ANAN L A
{1} (2} [3} (4} {3}
I (2y 2,3.4 3 1.4 {41 2,4,3

Rirections: Questions (31 te 40

Each ofthe following questions consist of bvo sets of figures. Fipure 4, B, C and D conslitute the
Problem set while fizures 1,2, 3 and 4 constitute the Answer Set, There is a delinits relationship
betwesn Figures A and B. Establish a similar relationship between figures C and LY by selecling a
suitatle flaurs from the Answer Setthat would replace the question marlk ¢} in fgure, (T3},

31, Problem Fiewes

Okl |

(a1 (Bl 01 DY

A ngwoer Fieures
o & ﬁ|"'—"
B @"\ | C _“
STR N

(1 () 4 ) B (4} 4

Froblem Fignres

¥ 19 \“ || ?_||

(hp o (BE (Cp (D

Ll
]

Ansaer Figures:

L €
~ K
mo @

[y (2) 2 (3 3 (4) 4 B
r
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33, problem Figures:
™ b ol
Q10177
(ay (B ) (D)
Aanswer Fugures:
"‘_'I_""' ,_H_I_Fﬂ. q.,_T_,.a .--'l"m.
‘ L]
(1) (2 3 {4)
(1 1 (2} ) [1} 3 [4:| 4
4, Prablem Figures:
sl =l[=]k
(&y  (BY iy (D)
Answer Figures:
esult.in
(y | @) 2 i 2 il
LI
0 [a[ 0] 7
(Ay B () (D)
Answer Figures:
._{1} {2 ) {4}
o (2) 2 (3) 3 () +
V-116
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6. Prolem Fugores:
——r
ﬁZ— S| e | 2
Ay By oD
Az Figures:
L
(1 it (3] ()
(| (2 2 . S B
LR
Prohlzm Figures:
Anzwer Figures:
. |
esult.in
U 2y 2 (5} 3 4) 4
38

Frosblem Figares:

= |3 2
() ()

LI

[A]

Answer Frgures:

Gl = || 3

{1} (2] kY (]

(1 | {2 2 {3) (4} 4

0-b
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14 Prablem Figures,

R

(M (B 1 ([x}

Aunewor Frsuimes

=[x~

i1} {24 (3] ey

{1 1 {2y 2 {31 2 (4) 4
. Mablem Fipare:
arialisl Inliys
el orte ECTO I
(Ar By 0y A
Answor Fioures:
e L - '-,T_.'ﬁﬁi
(B et
Nl et i
U (2) 2 3y 3 (4} 4

Directicns! Cuestions (41 to 507

In the pumber series given below, one number is missing. Lach series iz followed by lour
alternatives (17, (23, (3% (4). One of them 13 the tight answer. Indicate it as per the iNSLIAGELOTLS.

41, 28,33,31, 36,90 .39

(1y 32 {21 34 {3y 33 (4y 0
4% 135, %0, 45 20, _ 7
{1} 5 t2y 8 (33 10 {4y 42

L11-B
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43, A5, 250 20 160, 127, 15 T
{1y w4 (2] 96 {3y ug (43 100

dd. M0, L 40, 142
(1v 180 () 240 {3y 420 (4} 4&0

45, 2,7, 37,107,427 7
(1 1262 (2y 1707 {3] 4nr {4} 4207

46, 45,54,47, 7 a9 56,5157, 53
Ly 4 (X 50 {3y 45 (4) MNone

47, 66,56, 18, 7 _
{1 2 (2} & (3) ¥ (4) 9

A8, 20020019, 16,17, 13,014, 11,

’—l’

(L 100 18 {23 10, 1 {3y 13,14 4y 13,16

490 |9 23, 49,81, 7
(1) A {2y 112 (ay 121 4y 125

-

. 6,05, W T
{11 111 {23 113 (31 L4 41 122

[Mrections: Questions {31 to 60):

In these questions, (here ave aquations that have bucome weang due o ineorrect order of signs.
Jipom the [our altermatives given below, find out the correct ordur of signs. Sothat the squations
boeone corect.

al. Da=24=4-1
(1 - - - 2 o= - (3 +.=, (4} .+ -

52, 8=9=9-8l
{1} =¥+ 2y +— o+ {33 =.h- 4] = +=

F3. 40~ 15=3%7
(1} —++ {20 =+- (3 =- Wy -

b V116
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34, T2E=-F-13-7
I:]_} - =™ {2} :'{. +, - {j':l '1_3-+ fq} +:-=l|_

S5, 16 5-T713
{]} -t = {2:] . {j} +5 =" t.:l} Tty T

6. 12 -B+ 6=+ 576
(1 = #,= 1y = et {31 -, r= (4] —.+4,4

7 M+ i4+7 <=3
I:]} T :Hl|= {1] =-_!-+ '::3} =:T:_ {4} =!x| I

SR O34 +d-T6+4
(1) .=+ 2} = 3) = - (@)~

390 34 -5+ 27+ 10
iy =+ - e I (3] x,= = 4] =, + =

{31 21 {4y 25

(2)
{2) 15

1) 17 {4) 19

- V-116
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. 2 s
4 b

3

©

2

(1} 42 (2) 44 (31 46 {41 48
64, [42 |44 | 38

25 | 55 | 28

357 | 7 | 39

{1y 22 {21 33 (N 66 (4) 77
5.

4 2

{1y 27 {2) 33 (i) 34 4y &4

46,

Gy,

{11 33 {21 81 i3 243 4] 42
o8 é%

(13 L0 {3y L2 3y 13 4y 3
69, |34 3| ER

14112 16| 2 1

{1y 16 (21 21 {31 6l {47 &1

in V-116
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i [s1 |11 |l

64 | 50 [32
35 | 1 43
{1y 23 {21 27 (31 1% {4y 20

Drirections: Cuestions (71 10 50
The follrwing queslions are based on simple arithmetic caloulations. There are four alternalives
aiven under cach question. Afler identifying the right answer. indicate it as per instrictions.

71, 4TA3E + 0354125 -7

{1y 44418 {27 41448 3y 44158 (dy 44148
72, ROTES 4+ 3. 645 — 1243+ 43 =7

(1) 85743 (2y 27943 {3y 878473 (47 87743
13 .._L_x"'m heny = 7
DT NET: ¢ enx =7

(1y 48 (21 4¢ (3) 14 (4} 24
T4, 1524354205 + 9RT52 - ¢

{11 T09.455 (2y  E.A455 {31 719455 {41 TIR.455
s 4¥ -34° |
T 4%3=3d

(1) &7 {27 &7 (3 77 (4 107
76, ALONT < 000008 - 7

(1 00083 (2} 0000063 (3 DO00R0063  (d) D.0HING
7T JoisussanTon o7

(L () 109 (3} 99 (4} 120
TR, OS2 (04 =087

{1y 6.4 {21 164 (37 16 4y 128
y, B

' i3

(1y 13 () 1 (3} 169 41 17
20 3 4+1=3244 7=

(1} 3 (2] 4 {37 3 4y 2

. V-116
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Dhrections: Questinns (1 to 90

In cach of the Lellowing questions, there are a certain relationship between feeo given words on
one side ot and one word is given on e anotber side o0 while imother word is 1o be found
from the given 4 alternatives, haviog the same relation with this word as Lhe words of the given
pair. Choose the ¢orrect alternatives.

1. Cricket; Runs ;o Foud ball @ %
(1} Toints £21  Croals {3y Fenully (4] Left tront

Slate . Slace Pencil : ; Book ;7
{1y Pen {2} Tubber {37 Scale (4% Slabiooacy

S
rd

83, Bone: Skelton :: Blood @ %
{11 Dw (2y Ear {31 Ve {41 Skin

w4, Hospilal : Doetor 2 Sehoal @2
(1] l.esson f27  leacher i3y Black Board 4] Hook

L
r

Luck : Key:{Chair =%
(1} Cup {21 Cilass {3y Plate (4} Table

fn. Ciele s Chreuprfercarey Sauare @ 7
f1 ¥, Pepnmeter {2)_ Arca {3) YHule 4,0 Length

87, Video : Casscue - - Computer: ?
{11 Real (23 Recording (3r Liles {47 Tleppy

88 Theomomueler : Temperatare @ - Hygrometer ;7
i1} Tressurc {21 | wunidiy {3y Duensily (4} Kelative Densily

g4 13 Doyt Acraplane
i1y Tilot {2} Wheeler {31 Watcher {4y Mone

Ui Jagpery s Sweel o Chilli =7
(1 Somr 2y Sall {31 Hm {4y Biuer
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SPACE FOR ROUGH WORK

ClassResult.In

17-B
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SPACE FOR ROUGH WORK

ClassResult.In
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Part - 11 : SCHOLASTIC APTITUDE TEST

Time ; 90 Minwtes Max, Marks ;20

Muoie :
1) Subject. Cheestion Moo and Marks allonted:

5L No. | Subject Question No. Marks
L Phvsics - S o 162 12
3 C hermastry 103 1o 113 | Tl 1
Ju Rinlogy  Hd o 123 12
4, Mathemalics 126 e 145 20
nd Flistony | 1461w 155 10
b. Gengtaphy | 156 to 165 10
T Political Science 166w 175 1)
£, Econumics 176 to 181 {13

ii]  SHADE the cirele baving, the comect dllematives in the OME Answet Sheet provided,
rom amengst the ones given against the cocresponding questions in the Cuestion Paper
Bouoklet For shading the circles, use a Black Ball Point Pen.
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41

Left 53de

PHYSICS

Motion ol the car in which dicection

0
(3)

towards right
upwatds

{4}
{4]

Righ side

torwards Jeft
CAr oIl [ rove

32, Mirrers which funm only virlaal noages

(1]
(2}
2]
(4]

03, Theliquid used s ymaxinmm, minanwrrthereranelepls

L}
(b}
(e
{d]
L1}

g4,  -37C jee 13 healed upto it become vapolt

plane mirtor, conyex mirror
LONCAVE Mirror, plane tareer
CONYEX MOLTOL, COfACAYE MUTOr

only concave mirtor

Whaker
Mlercury
Advoliol
AIT

aandh {27 bande

{31 candd {d)

a—

a andd

[fthe ohservations are plolted i the given below graph. Whic parts ofthe graph represents
the process of melting and boiling respactively.

{1]
(2}
(1)
(4}

AR BC
L, DE
CD. O

Mone ol e aboyve

110 o

_______

— | EIIDETRIE

20-B
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95, M volecily of 2 Bus 13 72 kmdhr
W Welocity of g Car (5 45 mvsec
Z - A ¥ tranelled 60 ki in 400minetcs
I X it the velocity of Bus, Y is velocity of Car, Z1s velocity of Van.
(1 R<Y¥<24 {2y A=¥<Z (3) H=¥=Z (4] K=¥=4

uh. Wlatch the [ollowing,

7 Motion of Mades of a ceiling fan a)  Oscillalory mouon

i1 Blolion of an arrow from a how b Rolatory motion

iii]  Mution of the earth around the sun ¢) lranslalory motion

wh  MWolion of the needle 1n the dp  Translatory and rewatory motion

clothes stitching machine
(1 i-a ai-b dii-e dv-d
(23 i-a 1-¢  di-b o iv-d
{3 i-b  li-g di-d wes
4] i-b  di-a di-d dw-u

97, Assertion () Electric bulbs jnour houses are connected it parallel.
Renzon (1) ; _Bulbs pléw Brighterwhien theg ate connccted pafallel
{1y =Both{ Aeand (R areeatrect
{21 Buoth{A)and (R} arc meorreet
(33 (AL Is correct, (R is incorrect
£4y  [A)is incoreet, (R) 1% corract

9%, Machthe [ollowing,

11 Hurdity g]  Raingauge

i} Raimnfull bt Six maxinnn, minimun theno¢mneer
iy Wmd speed v Hydrometer

vy Tempearature d)  Anemometer

il i-u il-h  di-d v-o
(23 i-c  ii-b liesa  ived
{1 1-¢ ii-a dii-d4 iv-b
i4] 1-d ii-c 1i-b ivesn

V-116
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ya

XY are the objects havine sane size and made with same material. Anail of Lkgon Xand
ascrew of 1 kg on Y ure placed en which objeel the pressure IS5 murs

b onX
(2} onY
(3 equal prezsurzon X and Y

{4) datais insufficient

L i,

W 5 em

I
'l
Vibrations of hack-saw blades
X is the pitch of the sound produced by the hack-saw blade of 20 ¢, 0
¥ is the pitch of the sound produced by the hack-saw blade of 5 amiin.
(1} X=¥
PP {
31 X=1
(47 “Pifch dosstior depeidapon the lengibt Mthehack-saw blades.

1o,

102,

Wlgch of the following s ncorrect in the vase of friction

{11 Prictienal force iz dependent of the area ol coniact

(27 Friction is proportional to the normal foree

(3} Friction opposes the relative motion between iwo surlaces in contact
(dy  Friction depends upon the surlages which are Invontact

Ifthe incident ray incident perpendicularly to the plane, then the angle ol refletion,
[y %07

21 180"
{3 0"

{_"” l._.l_i;. s

22-B 1,?'_"16
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CHEMISTRY

L03. [demify the wrong stalenment.
{11 The misturs of aluminivm and coppet is used inthe ps ‘pamtion of coins.
(2]  The mixture of gold and copper is used in the preparation of Jewellcry.
(%1 The mixture of iten and carbon is used in the preparation of steel
(4} Themixture ol aluminium aod cacbon is used o the preparation of statuds,

Jid, By sprinkling small quanditiesof  nowater will preventbrowning of vegetablus
aller cutting.
ay  Vinegar by Lemon Juwe
v Ascorbic acisl dl  Mitrie acil
{11 abc (2y Db.ec,d (3] a.¢,d (4] b d

P03, Match the following.
3 & ar Wash
i _:_[ by Bleach
i ‘\(“_”\"g" el lron

i) ﬁg dr Dot bleack
(1 fT-u® Dy, iy v Bdd
(2Y00-b e i dedyv el

i3y ek R i TR B (X
i4) - -k qii-d iw-e

L6 Chorse the correct statements amang the follewing.
a1 The gasweuse in kitchen is m the toem of liguid in the ¢ylindsr. When it comes out
[rom the cylinder, it becomes o pas. This is a chemical changs.
b1 The burning ol gas come from the cylinder i3 a chemical change.
¢]  DBactera digestaninal waste and produce bivgas, This isaphyzical change,
dl The biogas humt asu fueliz a chemieal change.

i1y &, b4 {2} a,b,c (31 bed (4} a,c.d
107, Foracidity problem doclors preseribe antacid drugs which contain
2 Bagnusium hvdroxide b} Sodium wesiat2
) Vinegar ¢y Alnminimm hydoeide
(1] aandb (21 bhandu {31 candd i1y aandd
108, Ameng the following which san et be reeyebed a _ o
i) PLT {21 HDFE {31 Ps {43 LDPFL

- V-116
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109 Match the fellowing,

) Iemoving of proass, o slams a]  Alomnum bydroxide
1y Fireextinguisher by Craliv o

it Removal of mk stains ¢] Ammeniom byedroxide
1 ool drinks dl  Cuchonic acid

i1y i-a -k m-4¢ iv-d
(2y i-b  dien -4 iv-c
i3V -G m-a  ili-b iv-d
I m-b  ili-d ivec

_[":'{Etl|l}'| Rl ]) T Phenslphithalein Turmeric solution
L cmien Tuice reu cordourless £
Detergent soup waler vetlow g Mo
| Distilled water _ X colourless | villowy
The colours X, Y, £ arc
{1} red, colourless, red (21 yellew, colourless, pink
{33 vellow, pink, vellow 41 red.pink, ced

TR LY
Doue to reluase ol gas Limc water turmned milky white, Lhe milky white substance
COnLALDS
(17 oxwegen, caleiom oxide (20 [Tedrogen, caleium carbonale

{3y  Carbon diexide, caleium cathonate (4] Oxygen,wslcivm carbonate

L12. B Thenooplastics soften when beated,
0 Thennosetting plastics which moulded vnee cun™t be soflened by heating,
{t1 P iscoroect, O 05 incorrcct (2} Pand () are incorrect
{31 P is incorcect. 4 is correct (dy  Poand () are coreect
113, Arratige the metals capper, iven, Zine n deseeoding otder according w thwer reactivity
{1 Al [rom, Copprer (2% leowe, Zing. Capprer
{3] Coppeér Zing, lieh (4 Line, Uopper. Iron

24-B V-116
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BIOLOGY
|14, Which of the Tollowing plant produces new plant from the epipbylous buds (Leal buds)
(1 Lilly 2y [ahli (3} Strawberry (4} Bigneni
115 klateh ibe following.
b Ciilebi 2y Funpus
W Purification ol drainage walet by Loom
i) Humess 1 Haustoria
vl Parasitic plant dl Yeast
vh  Cercospor el Bar screen

{1y i-d di-¢ ii-c v-b
(2 i-u ii-b  uHi-d iv-a
{3 i-a i=-v di-b  iv-d
{47 1-4 ii-g iid-b iv-¢ wv-a

L
L B =

114, 1dentily the corract statements tiom the following,
2} Gaseouns exchange in plans occies only through stemata.
by Tnsectivorous plants gros only in Mirogen deficient sods.
f1%  aistrue
b iz also troe
{2) ais false
bis Lae
(3 kel Tre
b is lalse
(43 o isfalsé
115 olso Lalse
LIT. Palis
{41 atype of silk available in Norbem India
(21 wiype ulsill available in Yestern India
(31 atvpe of silk available in Lastern India
(4} atyvpe of silk available in Souchermn India

112, This cell organells can be recognised by using I"-"Iﬂ[]'lj":E”.E tiue solutivn.
{11 Muelealus (23 Cell wall {31 Mucleus {41 Cytoplasm
1. Dharing lhe contiemation of presence of food components, dark violet coloursd substance

i formed when 1t s treated with coppet sulphate selution, Fhis detennines ihe presence
b this compound

i1y Fus {21 Carbohvdrates {33 Proteins {4y Vitanins
1 20, Which of the following buses is used a5 a fire extinguizher?

(13 Allwminium hydroxide {2]  Ammonium hydiexade

137 Coleiourn hwdroxide {4} Potassim hydroside

- V-116
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121.

122.

Saich the fillowing.

i} Tieandllye a)  FEmolwons

iy 1dacilluz thuringiensis vy Seabics

Wil Temoswammetdan ¢l Jomadam

iv)  Adrinalin d)  Observation and deseriplion of micro
OCEHNISTNS

v Micro Arthropoda ¢} Bin pesticide

{1y i-d ii-e ii-b jv-a ¥-e
(21 1-¢ ii-e¢ qi-d iv-a w-h
(31 1-¢ -4 dii-e iv-ea v-h
4} i-d  di-¢ diiea iv-g v-b

Amount ol solar snergy atilised for pumoses of Global heat, evaporation of water on the
garth
(L1 33% (2 3% {31 RO-B3%% {4] S0

3. Which of she tollowing siatsments 3 incomect?

(13 TRed Fox, Lion are the endangered specivs 1o lodia.

(2} The Decoan wingless prusshopper is scen only in the Rabi scason,

(1 Menstrual eycle inwomat stops at the aee of 45-30.

{41 Louis Pasteur discovered the controlling mmeusures for microbial diseascs cawsed to
e Sidl ok,

L35,

The given organism in the above polure is 2 fype of
(1] Hacterium (2] Prolzeos {3y Funpus (4}  Algse

L £yEote dencles ()
Seed denotes ™ /N
Mew plunts denotes D

ldeniity the sequential order of fonnation,

1y P o @ @) @% @ S

L~
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MATHEMATICS

ll[]..’-li = (0105 +1.024 — ¢.00K)

126,
E | O022x0.25«1.7
(1 (2y 11 (3] I (4 Juen
127, The ratic ol the present ages of pvo brothars is 1:2 and 5 ycars back the ralio was 123, whal

125.

L 30,

will be the ralle of their ages afler > vears
[y 1:4 (2 2:3 (3} 3.5 (4] 56

A singla discount equivalent 1o two sbecessive discounts of 20% and 5% iz
(1} 3% (2 4% (3} 23% (41 26%

_ Twonumbers A and B are such that the sum of 324 of A and 4246 of B 33 two-Ourd of the sumn

af 6% of & and £ of B, the ratic ot A B s

1y 2:3 {2) 1:l (3 34 (4} 4.3
- L 50 1
= A=
Iy ¥+ 7 then ¥ S
1y 0 {2y {3 (@ pr2a0

. [nthe adjacent ligure ABCEY i2 a square of side 3 cm and PM L AR, the [ength of MC =

1) Sm-"g cIn 0 c

(21 645 em U
{31 445 em "A

. — A M B
41 T3 um

P O R:

M G0 (ema) (a-py then Pax+ Qhy+ Rez =

(1) PLOQ+R (2 r+p+z (3} a~b+o (41 0
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132, Stalement (A): {10249 = 186
Statcment (B (16} 2% = 32
{1y Both the statements (A and {B)arc corect
{3 [oth the statements (AY and {[3} are incovrect
{31 [(A)is comcct. (B} 15 inearmast
(41 (A s ineorrect, (B 15 comedt
134, 10x = (=13 +{=1F + ..+ (=1)""" any
Y= {_I}I _[_1]'2 + ---"‘{—l}mm then = - )+ is
1y 2014 (2y 2018 {31 1 (47 1014
: \ .
135, |f£: i = E 1ben M =
v g A5+ 9v+ 2y
iy £ (2 2 3y £ (4] Al of these
& y tf
|36, 1F 7% = 2411 whete @ and b are pozilive integers and g = 1, then which of the Tollowing s
(are] correet’y
I =4
mE a=b
I gl
{17 Fither] orIll (2}  Either IT or IT1
{37 Either[orll 4y Ionly
137, Finul the total eost of levelling the shaded path of unitorm width 2 laid in the rectangular
field shown hetow, if the mte per m?® is T 100
{1 F 12600 (27 % LH200 (3} ¥ 13000 (4) T 11000
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Ty —
138 Which ol the following is a selution of ::’3 5:* E'I:}?
i1y x-—-3 (2] x=-2
(31 hoth (] and (2} (47 ncither {1 nor (2)
13%. The muan of e, & and ¢ is same a5 the mean of b, 20 and & then which of the follewing is
correcl?
i1y a=&=¢ {2 b=c=d (3) b=¢ 4y a=c+td
Ty — _
40 o= p= 1238 g 820 L) thenx=
3 4 5
(1) 2 (2} 4 {3) % ES I
_1,{."‘ at
141, The valueof 3°  + & =
(I 512 (X)) 521 (3] 125 41 213

o=

142 The following are the steps involved In finding the values of {a"”'}lx_'u [.:r"’ e }P_: {a" " ]

Artange them in sequential erdor

a f11Ith-.'-']IJL-.r'rL_![ vz =z rtrfe-a) by a'- 1l

& ﬂxz_.v: _ﬂ},:_:z _sz_": ) u,*_}-hp"‘_;ﬂ-;:-r*

{11 g, ol b [2reach,d { T, G b 410 aul, b
143, The values ofx, vand z in the adjacent diagram T - N

(1) x=ERE, v=a7% 1= 6 _

(2} x—U2Y p=%&" =z =487 _';'i:'_‘

(3 ==47° p - U2Y, 2= BEY u C

{4y x-BES =927 o=070

Vd4. Each side of a triangle is increased by 10 cm. [T the ratio of the perimeters of the new
lriaogle and the piven triangle 15 5:4, the perimeater of he given wiongle

{17 110 cm f2y 120 cm (3 100 ¢ (4] 90 cm
]4q '||IJI|'.'I :{41 x_zi.l' E
. 1\! Fragt
| 3 1 3
19 1= 2} = - )y -
i) 2 {2} m {3} ] (d) :

Ig_ B v‘ll'ﬁ
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HISTORY

146, The buttle of Plasses was fought belween

(1y  Tipu Suftan and the Britsh {21 Mueaffar Jang und the Brilsh

{31 Sirpjuddaula and the British {47 The Mughal emperet and the British
147, The Scoond World War was broke out in

(11914 (21 1924 (31 Th3d 4y 143y
l4%. Minne the [ollowing coastal district in given Map.

(1) Chunfue

{21 Krishoa
(3} Prakasmm
(43 Visakhapulrom

L4, Bateh the tollowing.

i1 Munsabear ay  Hercdita chicl

i) Akbar by Revenue ussigniment
111 Jagivdar cl Suih-i-Kul

W Aaindar dr  Rank

{1 i-d ii-¢ dii-h iv-a
(2 i-a n-b  di-d jv-eo
i3y i-a g Mi=u ¥-Db
{d1 o7 W, | ii-¢  dil-d e
150, Which pact 6 an-instriptionds catled® Prashasi

P17 SAvDcalionat § 2 httalfaspail

i3y Third pact {41  Endofthe part
151. kitab-Al-1lind the wrubic book was weitten by

(b1 AlDhvuni (21 Paes

(3} Murco Folo {41 Abdul Razzak
152 [ 1190 AD a Mew Kingdom was established in Tl by

{11 Tughlogs (21 Sullans (33 bughals 4y Lodhbis
153, 50 Krishnadevaraya ruled from

(1% 1330 A0 - 1357 Al (27 LE2vAly- 1242 AL
(54, The first Muoghal cioperor was

i1t Dabue {2]  Albar {31 Huropun {4y Shalyahan
135, Who constructed the Qutub Minar

{17 QutbuddinAibuk {2y Babur

{31 Humayun f41 Al
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154

GEQGRAFPHY

‘Fhere are oo moain growps refermed o as Fskimas ; Tnuit and Yupik. [t in thecir langrage means
A the people

B} ihe originates

Ly Snow shoe-hetter

{11 [Aponly {21 (R)eonly
{31 (C)only (d} (AYand (B)only
157.
Relief fratures
uf an Ceean

mASSResult.in

CEp 56

(31 Contincntal shell
4} Continental slopc

. The angle st which the rays fall on the earth’s surfuc is called
{11 inschalion {2} solarradiation
i3] carthradiation (4) anple of neidence
Conventional svmbols ars used in the “Topo sheets” of survey of India. "53¢ " this conventional
symbol indicales
{11 huat (2} deserted fort (3} tank (4} Brokengroand
‘Bine’ forests wswally found in this region
(1%  Equatorial region {21 Himalayas
(3 CoastalAndhra Pradesh {4] Rayaliseema
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161, The highest peals in Alrvica is Mount Kilimagare in

(1} lrnzania (21 Egypl {33 Ethiopia {4) Migeria
162 From North to Soulh which one of the fxllowing is Lhe Correct sequence of the given Tivers

Al Nogavil

) Yamnsihara

Oy odavarn

17}  kKnshna

iy ABCD (AL D {17 A B DLC {4y B,AD,C
163, A)  Ltisashiny minetal B}  Hisused inlectrical industry

1 Necomes inthin lay2rs O} Itis a non-condustor of electricity

' 'he above statements are relaled w this mineeal

f1} Bauxile {21 Mica (31 Ashesios (41 Feldspur
164, Match the lellowing,

1 Jung 21 a)  Sunon the Equator

11y March 21 by Suwoen the Rquator

i) December 22 ¢t Sunonthe Tropie of Cancer

vl September 23 Ay Sonon the Teopic of Capricoum

(1 -6 e _ddi-d. iv-B

(¥ -4 e Wi - ey v h

(33 Toa Th T - a e

(4) i-v  di-bh o dli-a ived

165 Mr. Ruvi wanks ta knovs the boundary of Andhra Pradesh, Which of the following mar does

help ham'?

A1 India - Pohiticalmap

Bp India- Physical map

Co India - Contoue lines mup
{t] (Adeonly

(3% (Cronly

1)

(4]

32-B

(B omly
(B and (T only
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POLITICAL SCIENCE

L6, The Goseenor of the State 15 appuointvil by
(11 Prire binister (2] Chiel Mioister
{37 President {41 Chicl Justice ol Supreme Courl
167, "Fhe tirst Tnion Law binister of Independent Tndia is
{17 e B Aunbedkar {21 Smi Vijoya [Lakshma Pandi
(31 Rardar Vallabhbhai Patel 4} Subhash Chandra Boge
168, The constitution of India enlrusted the responsibility of conducting elections in India Lo
i1}  The Supreme Courl
2y  The Clection Commmission
i3y Central Gowermmen
(4y  The Stare Gorvermment
6% Mdatch the following.
i1 Sovereign ap  Ciovernment will nol faveur any religion
1) Repubdic by Pcople have the supreme right to make
decistons
i1} Fralernily o Hemndhof thms lae 1s anglecred persun
LI apnlar dy People should live like benthers and sisters
{l1 1-b i-&  ai-4 iv-az
{27 i-a  i-d  dii-b oav-u
(31 1-¢  di-b gii-a av-d
(4] i-d W-¢ NMi=hb 1v-¢
170, :"Ir;_'llil,il.":i wee will have equatity and in social and cconemic lite we will have inequality. In

politics we will berecognising the principle of one mian ane vete and one vole one value,
In cur soviul wnl economic lite, we shall, by reason of our social and cconomie stricture,
contimie to dey the principlz of one man one value, How long shall we continue to live
this life of contradictions? How long shall we contimie 0 deny equality in ouor social aml
coonomnic lite? [we continue to deny it for long, we will do so only by putting our political
dermaceacy in petil™.

Whnge statement was it

{1y Muhotoma Guandbigi (27 Dr BR Ambedkar

i3y Jawaharlal Nehmu (41 D Boakw Rajendra Prasad
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171, InIndiz any law relatiog to Maoney and Banking can enly be made by
i1y Parhamenl
(2} Beserve Bank ol Lodia
i3y Blection Commission of Lndia
(4 World Bank

172, Govermooent of Andhea Bradesh enacted the Andbra Pradesh wioter, Laod and Trees Prolection

Actin
i 1o {21 1985
(3 1990 {4y 2002
173. The deafting, counmitcee chair person of the Indian Constitation is
(1} T B Arnbedkar (21 Dy BabuRaendra Prasad
(3} Dr. Zaker Hossen (4} T3 Farukb Abdullah

174, Who is the following person is most koown Lo his etfons 1o educate women and lower
castes as well as the mosses

{1y  Savitribal Phule

(*y  Poriyar F.V. Rana Swanmn
{3y _Hri Naravana Gurg

t4y Jvotirao Crowndras Phule

— _ = - e o= _

| 75, The st popahar follegoddess of AndhraPradashis
{17 Pochamma {21 bMaisamma

£33 Cangmmums (41 ¥ellamma
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ECONOMICS

176, He devised amethod ol laying roacd using heaken stones.
() DBoulton {21 Creorgs Sweprhenson
(3} Joln Loudon Me Adam {41 Tames Wart

177, Amange the following stages of paper-making process in eotrect opder.
Al Cuting
B) Pressing, drying and colling
L7 Chipping,
v Spreading the pulp
[y Making of woaol pulp

1y LA DA 27T A B CILE
3y C.DLB.E.A (4} A LTLB.C
178, Inthe Mauryan Period “Pana™ was the standard cutrency. Lt was made of
1y Guold (2} Silver
(3} Bromnze (4 Coppet
179, FMengy Ford stapted thisancthod of production tepraduce ndrecars quickl
(1 0 Combined ¥ Tarvester £ hsscmbly line
(3} Tlarter systeun (4 Fuclory system

180, Inwhich pasition Lndia is the largest producer of medicmes i the warkl,
{1y 1% f2y 2nd £33y 3nd (43 4t

a030
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